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Newt Mystery Explanation

Goal: Show what caused there to be some extremely poisonous newts in today’s newt population when there were none in the 
newt population 200 generations ago.

Name: Date:

Trait Labels
+s = more likely to survive
-s = less likely to survive

+o = likely to have more offspring
-o = likely to have fewer offspring

m = trait introduced by mutation

Natural Selection Modeling Tool

Time

1. Population 200 Generations Ago

Environment: no snakes
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2. Population 50 Generations Ago

Environment: no snakes

3. Population 40 Generations Ago

Environment: changing from  
no snakes to snakes

4. Population Today

Environment: snakes
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